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1. Choose the right answer from the four alternatives given below :

1x4=4

weTe WAl BIRG] Rm Seaq 7] e Sedch] A1 Sfeqr -

(@)

(b)

C16/30

Which one of the following continents has the highest
growth of population?

OETe il (1Y FRICHR SR I ST 2
(i) Asia
GGz}
(ii) North America
Teq SR
(iii) Africa
Bl

(iv) Europe
2T

Which one of the following countries has the highest
sex-ratio in the world?

w57 gl (PR A kel Spere A fowas sififag o

(i) France
P

(i) Japan
G

(iii) Latvia

=B

(iv) India
BRI
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(3)

(c) In which one of the following States is the major oil fields
located?

T Tl (FITIA TS 24 COTCFPTR SEZS ?
(i) Rajasthan
BISE{D
(ii) Bihar
RER
(iii)) Tamil Nadu
SIfETAE
(iv) Assam
BT
(d) Which one of the following rivers is highly polluted?
mﬁma%ﬁﬂs[@ﬁmﬂ%ﬁiﬁ@ﬂﬁmaﬁ%%@m :

(i) Yamuna

Tl

(i) Brahmaputra
LT

(iii) Sutlej
o

(iv) Godavari

QIGEET!

2. Answer the following questions in brief : 1x4=4

oS Al eppTeq by Ted i :

(@) What is age-sex pyramid?
T1-forgel e 5 2

(b) In what category of activities is trade included?
AT @ 3ofa FRFAN SBHS ?
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(4)

(c) What is mineral?
i 5 2

(d) What do you mean by ‘communication’? '

‘e’ feteet & @ ?

3. Answer in brief : 2x10=20
5y T i ; '

(a) Name two subfields of Human Geography.
R PCSIET 451 SIS =W 21217 |

(b) Name two secondary human activities.

s 01 et e W e |

(c) Write two characteristics of rural settlement.

21 <PTReS 51 CIfEs fera |

(d) Write two benefits of water transport.
& ARRRR 01 ST ford |

(e) Write two major north bank tributaries of the
Brahmaputra.
TefE T TeT 2 S @Rl o1 i Tt I e o

() Mention two causes of noise pollution.

*[31 AT 1 e STEs 394 |

(g) Write two major features of liberalization.

TRIFI W01 A4 Iy o |
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(S)

(h) Name two metropolitan cities of India.
OIS Y51 G P01 FReRE 9 B |

(i) Give two reasons for low levels of Human Development in
most of the Northern States of India.

BT SFST ACHPTRS W4 R f @RIE 151 Fieel wexfa |

() How is sex-ratio measured?
1R8] AT (Fewed fiefr a1 =0 2

4. Answer the following questions in about 100 words each
(any nine) : 3x9=27

woT® il eRPTIRT 2fSehi Tew 100 B * fowse fimt (R et 761) -

(@) How science and technology helped population growth?

G Y R o 2feRmiy Rmee 2 96 ?

(b) Differentiate between Nomadic herding and Commercial
livestock rearing.

S RGN S AT R4 2T oS 212 ol w4 |

(c) What are the problems of road transport in mountainous
region?

) YIS Al AY ARTRIR TPIPR 6 &5 2

(d) Differentiate between port and harbour.
T T (ATOnRE NS AL o |

(e) Mention major characteristics of globalization.

COARITIeT 24 CAMIBICA TeEd 4T |
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(9)

(h)

(1)

0)

(6)

Differentiate between Pollution and Pollutant.

oIRel S 20 G I TS |

List the names of six important towns along NH-51.
51 R BT GO IS A 0! A4 TR T OIferw] 2o 4 |

Write six administrative towns of North-East India.

‘B -7[d SRS TN S 52 T oI |

Mention how water pollution influences on human health.
T2 FEA S°[S Gl e 2SR SCEs Al |

Why are most of the cities located near the river or in
coastal regions? Give main reasons.

mwwmm%wm@ﬁmwwmﬁaﬁcm
T 7 24 FREPTR T |

5. Answer the following questions (any three) : 5x3=15

mﬁmm@%@aﬁm(ﬁm%ﬁﬁ):

(@)

(b)

()

C16/30

Describe how Human Geography passed through the
corridors of time.

STEE CTeS T wesire Reved TP C20R, T 1 |

State major characteristics of shifting cultivation and
sedentary agriculture.

W@ﬁGﬁWY@WﬁWWW%WI

How are sea ports gateways of International Trade?

S TR SEEIBR AT AR P 29 #Me 2
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(7))

(d) Mark the following places and rivers on the outline sketch
map of India :

SROTT 43 TN (7 Wi ©eTe ) ZA o gz q2e -
(i) Capital of two States :
v e Sl
(1) Agartala
RIREICH|
(2) Raipur
TR

(ii) Two rivers :
u Al
(1) Kapili
eIl

(2) Narmada
gl

% ok
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1. Choose the right answer from the four alternatives given' below :
I xX4=4

weTs Tl BifRE ReE Te A 9T UEI0! iz Tfered :

(a) Which one of the following age limits is considered for
* measuring literacy rate of a country ?

G (7 R 2 GfRReE oeT (Rl B! 9T A Kbl 41 23 7
(i) 12 years
SR &S
! (i) 6 years
L &T
(i) S years
@ 929
(iv) 7 years
q 9%9
(b) Which one of the following method of cultivation is practiced
in the hill areas of North-East India ?
wnvg@mw@m@mmwﬁm (IO S 2Iwfe Sprael F< 22
(i) Commercial cultivation ‘
e 9 '
(i) Mixed cultivation

i FE

iii) Shifting cultivation
FHIGAS

(iv) Cooperalive farming

(2]

““

__—_A



(c) What is road density ?
AAF TTg S

(i) - Road length per 1 sg.km.
- fS 79 [RETRGR A" T

(i) Road length per 10 sg.km.
el So 9 [ #29 T<)

(iti) Road length per 100 sg. km.
2ifS Soo 79 [FENGIT A2 7

(iv) Road length per 1000 sqg. km.
2fS Sooo 9 [FEAIAGA A )

(d) In which of the following places is the annual rainfall very
low ?

O (I 212 A JfBeAre AfEel S F 2
(Irezpar i
(o7
: (ii) Lamding
BIRICN
(iii) Silchar
1o

(iv) Guwahati

9. Answer the following questions in brief : 1x4=4
weo Al eHpTRd b3 Ued ¢
- (@) Who developed the concept of ‘human development’ ?
SR R 4RO (PG CEee iR ¢
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(b) What do you mean by transhumance ?
AroeEP] e F 3@ ?

(c) Which is the ﬁrét oil refinery in the state of Assam ?
ST @ (OSTCAIIAIANR (<BICDI

(d) Give the definition of sustainable development.

qaerEs TaEe k@ Al |

3. 'Answer in briefi: 2x10=20
53 Ted Al 2
(@) What are the two major components of the earth ?

SIRGIS éﬂx Toimie 7o) 5 e

(b) Give two geographical factors that influence the distribution of

population.

SR Aesere @eid (oIt 70! @KWW%?IWL

(c) Name two components of human development. | d

e T 76 BemieE i feri |

(d) Give two examples of tertiary activity.

Sl SRl 757 Tl e |

(8). What is nucleated scttlement? Give example.

(TS O P (i T Tl

27T GEOG (4]



" (f) Name two very cold regions ‘of India.
Sl S Dl e 75/ IS B |
(g) Give two main causes of male-female migration.
-NRE e 75 =0 iRl T 1 |
(h) Mention the ‘im‘pact of air pollutién on human health.
RS FFE 2RO AN el T < |
(i) How are ports helpful for-tradé ?

Fifeera A TMEERT A el {57

() Give two reasons why setting up of heavy industries in Assam :
is difficult.

SETS @F GOUls Fie TG 1 wfer 75! wiee v |

Answer the following questions in about 100 words cach :

s (any nine) RN g0 o
weTs Tl eETEd iR Ues 1000 *% foess Wl ¢ (Repear 761
(a) Wha-t.does human geography study ? |
; SR SN B SRR e e
(b) What is population explosion ? Why is this so?
! eRPIk] R e 9o o =y
(c) Explain the two approaches to planning.
ARGETE 751 2Bl 710l T | |
(d) What are the characteristics of commercial livestock rearing ?
QAR A s WRBERE 7 R
27T GEOG [5]
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(e) How do you suggest to conserve Mineral Resources ?

G e i i o o s [ o) B B B | P R e

(/) How is water transport cheaper than other modes of transport ?

sifEEeE S GAREReCE G ffRaed 99 el =2

(g) Name the three physiographic units of Assam.
S B ipfess [Relel Moo s forai |
(h) Why is agricultural productivity low in dry region ?
% GERS FRE SeATAIRTol T 2 {72
(i) Explain the causes of industrial pollutioﬁ.
QUi e PR T

(i) Give an account of the non formal sector of services.

SRR @Rl e R @bl G i |

5 Answer the following questions : (any three) W
wete Tl erre el il ¢ (Reiea fofo))
(a) Write a note on the scope of human geography.

i ol ~AfER A < (B forel|

) Give a description of the occupational structure of world

population.
eI SR e sileFE faqel Tl |

=5



(c) What are renewable energy sources ? Enumerate the
characteristics of renewable resources.

TSIy *if T TER F 2 TKIeEr@isy TevEiRE @Rgy

(d) Mark the following places and rivers on the outline sketch
map of India :

ST G T3 Y i were @ BN S A0EE 9eed o

(1) Capital of two states :

w3 JIG0S SISl 2

(1) Gandhinagar
QIEIoRE

(2) Kohima

cpif=a

(ii) Two rivers :

5 ¢
(1) Tapti
Sl

(2) Subansiri
GAIRDIRIE

[7]

27T GEOG




	Geography 2nd yr 2016
	Geography 2nd yr 2017



